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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 477 5.3 0.8 6 87.6 100
2 477 3.6 1.6 6 60.2 100
3 477 5.5 1 6 92 100
4 476 5.5 0.8 6 91 99.8
5 477 4.7 1.2 6 77.8 100
6 477 5.3 1.8 8 65.7 100
7 477 5.4 1.7 8 67.6 100
8 477 5.1 1.6 8 64.1 100
9 476 1.8 1.4 6 29.5 99.8
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Sticky Note
Usually the question number.

Sticky Note
The number of candidates attempting that question.

Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question.

Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.

Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 1 [6] 
 
(a) the zoo in Berlin [1] 
 
(b) a football club [1] 
 
(c) Hertha celebrated her birthday / turned two / got an ice cake [1] 
 
(d) pears / melon / fish. [Any 2] [2] 
 
(e) of the zoo staff/employees [1] 
 
 
 
 
Question 2 [6] 
 
(a) spend the summer in Berlin [1] 
 
(b) a seaside resort [1] 
 
(c) at Easter 


during the Christmas holidays [2] 
 
(d) she had to do so much / she had to go shopping every day [1] 
 
(e) seen (practically) the whole world [1] 
 
 
 
 
Question 3 [6] 
 
(a) Mia hat in einem Büro gearbeitet. [1] 
 
(b) Ben will später Arzt werden. [1] 
 
(c) Mehmet fand die Mitarbeiter nett. [1] 
 
(d) Ben fand das Praktikum hilfreich für die Zukunft. [1] 
 
(e) Mia fand das Praktikum langweilig. [1] 
 
(f) Karla fand das Praktikum stressig. [1] 
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Sticky Note

Total marks: 5/6



Sticky Note

Question 2 (a): 0 marks
The candidate must make it clear that Terry's mother did not want to spend the summer in Berlin.



Sticky Note

Question 2 (b): 1 mark
The expected answer was a spa town but an island town was also considered a valid answer and so the mark was awarded.



Sticky Note

Question 2 (c): 2 marks



Sticky Note

Question 2 (d): 1 mark



Sticky Note

Question 2 (e): 1 mark
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Sticky Note

Total marks: 3/6



Sticky Note

Question 2 (a): 0 marks
The candidate must make it clear that Terry's mother doesn't want to spend the summer in Berlin.



Sticky Note

Question 2 (b): 0 marks
Incorrect answer.



Sticky Note

Question 2 (c): 2 marks



Sticky Note

Question 2 (d): 0 marks
Incorrect answer



Sticky Note

Question 2 (e): 1 mark
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Sticky Note

Total marks: 2/5



Sticky Note

Question 2 (a): 0 marks
The candidate must make it clear that Terry's mother does not want to spend the summer in Berlin.  



Sticky Note

Question 2 (b): 0 marks
Incorrect answer



Sticky Note

Question 2 (c): 1 mark
Only one detail correct.



Sticky Note

Question 2 (d): 0 mark
Almost correct but the candidate does need to make clear that Terry had so much to do before going on a cruise. 



Sticky Note

Question 2 (e): 1 mark
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2. Read this extract from the novel „Lady Punk“ by Dagmar Chidolue.
Answer the questions in English. [6]


Terrys Mutter wollte den Sommer nicht in Berlin verbringen. Sie hatte die Wahl. Die 
Groβmutter hatte noch ein Apartement in Westerland, einem beliebten Badeort auf 
der Insel Sylt. Aber nach Sylt waren sie schon zu Ostern gefahren. Und auch in den 
Weihnachtsferien fahren sie meistens dorthin. 


Eine Kreuzfahrt war nichts Neues für Terry. Das Fürchterlichste war, dass sie vor der 
Schiffsreise so viel machen musste. In den Wochen vor der Reise musste sie jeden Tag 
mit ihrer Mutter einkaufen gehen. 


Praktisch hat Terry schon die ganze Welt gesehen. Nur Nordamerika hatten sie auf ihren 
Reisen nie besucht. Die Mutter wollte ihren Fuβ nicht in Amerika setzen.


Adapted from Lady Punk by Dagmar Chidolue.


(a) What did Terry’s mother not want to do? [1]


(b) What type of town is Westerland? [1]


(c) On which occasions had Terry already spent time at her grandmother’s flat? [2]


Write two details.


•	


•	


(d) What did Terry not like about going on a cruise? [1]


(e) What has Terry already done? [1]
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Question 5 [6] 
 
  Sven Julia Sven und Julia 
(a) Man macht keine körperliche Aktivität bei 


E-Sport. 
 ✓  


(b) Man soll kein Geld für E-Sport ausgeben.  ✓  


(c) Viele Jugendliche machen gern E-Sport.   ✓ 


(d) E-Sport ist ein richtiger Sport. ✓   


(e) Groβe Turniere kann man leicht sehen. ✓   


(f) Aktiver Sport ist wichtiger als E-Sport .  ✓  
 
 
 
 
Question 6 [8] 
 
(a) the underground [1] 
 
(b) in a city [1] 
 
(c) a new part of the Berlin underground network was opened /  


the U5 line was finished [1] 
 
(d) it stops at many of Berlin’s tourist sights [1] 
 
(e) 10 years [1] 
 
(f) you have to build a tunnel under streets, buildings and a river / you have to buy a 


special machine [2 details required] [2] 
 
(g) stations / platforms / stairs [Any 1] [1] 
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Sticky Note

Total marks: 5/8



Sticky Note

Question 6(a): 0 marks
Answers given in German will not be credited. The rubric clearly states Answer the Question in English.



Sticky Note

Question 6(b): 0 marks
Incorrect answer. It's in cities in general, not just Berlin.




Sticky Note

Question 6(c): 0 marks
Incorrect answer.



Sticky Note

Question 6(d): 1 mark








Sticky Note

Question 6(e): 1 mark




Sticky Note

Question 6(f): 2 marks




Sticky Note

Question 6(g): 1 mark
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Total marks: 3/8



Sticky Note

Question 6 (a): 0 marks
The candidate must make it clear that the article is about underground trains.




Sticky Note

Question 6 (b): 1 mark




Sticky Note

Question 6(c): 0 marks
Incorrect answer.



Sticky Note

Question 6 (d): 0 marks
Incorrect answer. The candidate needs to make clear that the benefit to tourists is that the U5 line will stop at lots of Berlin's tourist sights. 







Sticky Note

Question 6 (e): 1 mark



Sticky Note

Question 6 (g): 1 mark



Sticky Note

Question 6 (f): 0 marks
More specific details required e.g. The tunnel had to be built under streets, buildings and a river. A special machine had to be built.
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Total marks: 2/8



Sticky Note

Question 6 (a): 0 marks
The candidate has to make it clear that the article is about underground trains. 



Sticky Note

Question 6 (b): 1 mark



Sticky Note

Question 6 (c): 0 marks
Incorrect answer. A new line has been opened (the U5).



Sticky Note

Question 6 (d): 0 marks
Almost correct but the candidate must make it clear that it is the fact that this line will stop at lots of Berlin's main tourist attractions.







Sticky Note

Question 6 (e): 1 mark



Sticky Note

Question 6 (f): 0 marks
Incorrect answer and only one detail given.



Sticky Note

Question 6 (g): 0 marks
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6. Read the article. Answer the questions in English. [8]


Mit der U-Bahn kann man 
unter der Erde von einer 
Haltestelle zur nächsten 
fahren. Es gibt dieses 
Verkehrsmittel meistens in 
einer Groβstadt, zum Beispiel 
in Deutschlands Hauptstadt 
Berlin. Mit der U-Bahn in 
größeren Städten zu fahren, ist 
sehr praktisch. Man kommt so 
schnell von A nach B.


Am ersten Freitag im 
Dezember hat man einen 
neuen Teil des Berliner 
U-Bahn-Netzes geöffnet. Die Verlängerung der U-Bahn-Linie 5 ist jetzt fertig.


Viele Berlinerinnen und Berliner haben darauf gewartet, sagte der Bürgermeister von 
Berlin in einem Videoblog. Aber auch Touristen können sich freuen, denn die Linie U5 hält 
an vielen Sehenswürdigkeiten Berlins, zum Beispiel am Brandenburger Tor.


Die Bauarbeiten haben zehn Jahre gedauert. Es ist sehr teuer, einen U-Bahn-Tunnel zu 
bauen, der unter Straßen, Gebäuden und einem Fluss ist. In Berlin musste man dafür extra 
eine spezielle Maschine kaufen, um den Tunnel zu bauen. Und dann mussten Arbeiter 
natürlich noch die Bahnhöfe mit Gleisen und Treppen bauen.


(a) What is this article about? [1]


(b) Where is it mainly found? [1]


(c) What happened on the first Friday in December? [1]


(d) What will be the benefit for tourists? [1]
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(e) How long had the project taken? [1]


(f) Why has this project been so expensive? Write two details. [2]


•	


•	


(g) What else had to be built? Write one detail. [1]
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Question 9 [6] 


German Reward 1 mark for each section
Kleine Kinder benutzen regelmäβig Handys 
und Computer.  


Small children use mobile phones and 
computers regularly. 


Es ist also schwer zu glauben, dass junge 
Leute später kein großes Interesse an IT-
Karrieren haben. 


It is, therefore, difficult to believe that later 
on young people do not have any great 
interest in IT careers / a career in IT. 


Wenn Jugendliche über ihre Berufspläne 
sprechen, 


When young people talk about their career 
plans,  


ist es klar, dass die meisten noch 
traditionelle Berufe wählen möchten. 


it’s clear that most of them would still like to 
choose traditional jobs. 


Mädchen wollen noch immer Ärztin oder 
Lehrerin werden. 


Girls still want to become a doctor or a 
teacher. 


Letztes Jahr war der Traumjob für Jungen 
Ingenieur.  


Last year the dream job for boys was 
engineer. 


C820UC0-1 EDUQAS GCSE German – Component 3 HT MS S22/CB 
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Sticky Note

Section 1: 1 mark



Sticky Note

Section 2: 1 mark



Sticky Note

Section 3: 1 mark



Sticky Note

Section 4: 0 marks
Candidate has not translated wählen




Sticky Note

Section 5: 1 mark



Sticky Note

Section 6: 0 marks
Candidate has not understood Jungen



Sticky Note

Total marks: 4/6
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Tick
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Sticky Note

Total marks: 4/6



Sticky Note

Section 1: 1 mark



Sticky Note

 Section 2: 0 mark
also translated incorrectly. groβes not translated. Candidates should be reminded that they must translate every word in the German text in to English.




Sticky Note

Section 3: 1 mark



Sticky Note

Section 4: 1 mark



Sticky Note

Section 5: 0 marks. 
noch translated incorrectly.



Sticky Note

Section 6: 1 mark
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Sticky Note

Section 1: 0 marks
regelmäβig not translated.
Candidates should be reminded that they must translate every word in the German text into English.  




Sticky Note

Section 2: 0 marks
also and junge translated incorrectly. 



Sticky Note

Section 6: 0 marks
Jungen not known



Sticky Note

Section 3: 0 marks
Wenn not translated.
Berufspläne not known




Sticky Note

Section 4: 0 marks
This whole section is totally incorrect. 



Sticky Note

Section 5: 0 marks
There is no negative in the sentence to be translated. noch not known.



Sticky Note

Total marks: 0/6
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Translation


9. Translate the following passage into English. [6]


Kleine Kinder benutzen regelmäβig Handys und Computer. Es ist also schwer zu glauben, 
dass junge Leute später kein großes Interesse an IT-Karrieren haben.


Wenn Jugendliche über ihre Berufspläne sprechen, ist es klar, dass die meisten noch 
traditionelle Berufe wählen möchten.


Mädchen wollen noch immer Ärztin oder Lehrerin werden.  Letztes Jahr war der Traumjob 
für Jungen Ingenieur.  











